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Use appropriate significant figures to record answers from a mathematical operation, with
the correct number of digits
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Use appropriate significant figures to record answers from a mathematical operation, with
the correct number of digits
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Use appropriate significant figures to record answers from a mathematical operation, with
the correct number of digits
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Recognize uniform or non-uniform motion from a motion diagram or a particle model figure 11
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19 Define and identify independent and dependent variables for a given data set as mentioned in the book 18
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Represeﬁt datain graphical form, draw the best fit line, and identify from the shape of the
graph if the relationship between the variables is linear, quadratic or inverse
Find the slope from the graph of a linear relationship

as mentioned in the book
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as mentioned in the book
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Classify physical quantities into vector and scalar quantities (distance, mass, displacement,
speed, velocity, acceleration, force, work, energy, pressure)

as mentioned in the book 38
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Classify physical quantities into vector and scalar quantities (distance, mass, displacement,

. . as mentioned in the book
speed, velocity, acceleration, force, work, energy, pressure)
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Classify physical quantities into vector and scalar quantities (distance, mass, displacement,
speed, velocity, acceleration, force, work, energy, pressure)

@ = Wy T & T T

as mentioned in the book




Define a coordinate system and identify the origin, position, and distance in a coordinate
system

figure 9 39
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Differentiate between distance travelled and displacement

figure 10
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Differentiate between distance travelled and displacement figure 10
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table 1 and figure 11

Plot a position-time graph given position-time values. 41
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Interpret a position-time graph that represents the motion of a single object

example problem 2
Interpret a position-time graph that represents the motion of multiple objects
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20 Interpret a position-time graph that represents the motion of a single object example problem 2 a4
Interpret a position-time graph that represents the motion of multiple objects
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Define displacement as the change in an object’s position
Define average velocity and average acceleration

as mentioned in the book
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Define displacement as the change in an object’s position

ctal Define average velocity and average acceleration

37

as mentioned in the book
47,64
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Define displacement as the change in an object’s position " . 37
. ) N as mentioned in the book
Define average velocity and average acceleration 47,64
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Define displacement as the change in an object’s position
Define average velocity and average acceleration

37
47,64

as mentioned in the book
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Define displacement as the change in an object’s position as mentioned in the book 37
Define average velocity and average acceleration 47,64
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Apply the equation of motion, (xf = vavgt + xi) or (xf - xi = vavgt), in numerical problems to

exmple 4
calculate the position or other physical quantities
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9 Describe the motion of an object if its velocity and acceleration are either in the same
directions or opposite directions, hence state if an object is slowing down or speeding up

as mentioned in the book
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Describe the motion of an object if its velocity and acceleration are either in the same

as mentioned in the book
directions or opposite directions, hence state if an object is slowing down or speeding up
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14 Interpret the velocity-time graph for a single or multiple objects in motion figure 6 63
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Interpret the velocity-time graph for a single or multiple objects in motion

figure 6
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Define and calculate the average acceleration
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and its initial and final positions (v2f = v2i + 2a(xf - xi))

Apply the alternative equation of motion relating an object's final velocity to its initial velocity, its constant aceleration,

problem 16 69
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Apply the equation of motion relating the final velocity of an object to its initial velocity,
uniform acceleration, and time (vf = vi + at)

problems 5,6
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- Relate the slope of a velocity time graph to the average acceleration of the object in motion example 3




12 Calculate the displacement as the area under the curve of a velocity-time graph problem 3 70
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A. Apply the equation of motion relating the final position of an object to its initial position,
138 initial velocity, uniform acceleration, and time example 4 72
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